BOAT LIFT ACCESSORIES

Hydraulic Box Holder
8k,10k, and 12k Lift

Instructions
Part #: 1028618

Failure to follow instructions may result in
personal injury and may invalidate the
applicable warranty.

Step 1. Attach the hydraulic box bracket arm to
the hydraulic lift canopy leg as shown. Use the
connector plate to sandwich the hydraulic lift
canopy leg. Secure with four 3/8 x 4-1/2 full
thread hex bolts, and four 3/8 nyloc nuts - as
shown.

Step 2. Attach the hydraulic box tray's to the
hydraulic box bracket arm as shown. Secure with
two 3/8 x 3-3/4 hex bolts, and two 3/8 nyloc nuts -
as shown.

Step 3. Place the Hydraulic box between the two
hydraulic box tray attachments - as shown.

Parts List
ITEM [ QTY | PART NUMBER DESCRIPTION
1 1 1028615 Bracket Arm - Hyd Box Holder 8, 10, 12k \ -
2 2 1028617 Tray - Hyd Box Holder 8, 10, 12k \\
3 1 1002911 Plate Connector ~
- 1 1015548 Bolt Bag - Hyd Box Holder - White Box ~
4 4 1002442 Bolt 3/8 x 4.5 Full Thread
5 6 1001805 Nut 3/8 Nyloc
6 2 1002437 Bolt 3/8 x 3.75

SHOREMASTER.coM I



